ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-1) Name:
CHALLENGE

Time:

249)

(6Gx0x7))+46+(9x(=3)+0)—1x(—-2)—(—6) =

250)

((0=4x 94+ (—60)) = (—85) = 10 =1 — 33443 + (=3)) =

251)

4+1+421 X 14 (=12) + 90 + (=10) — (((21 + 19) = 20)) =

252)

774 (=32) + (174 (=65)) =12+ 64 ((b+ (1) — 1))) — (=51) =

253)

(6x0+60)x73)+ (=2 +3+(@x7T+(8+(-1)))) =

254)

(81 + (=9) = (=10)))) =0 x ((0+ (=1)) = (0 + 8 = (=6)) x 6)) =

255)

(36 + (—31) x 1)) x ((0+(=2)) = (=79)) x 5+9)+69 — (=7) =

256)

(((0+(—6) +63)) x65) x 36+ (—6) +(—28) +~ (4 x4—-06)) =
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